
Answer on Question #77789, Physics / Optics 
 

Question. Two waves of the same frequency and constant phase difference have intensities in the ratio 

36 ∶ 4. These waves are superposed and interference fringe pattern is obtained. Calculate the ratio of the 

maximum to minimum intensity. 

Given. 
𝐼1

𝐼2
=

36

4
. 

Find. 
𝐼𝑚𝑎𝑥

𝐼𝑚𝑖𝑛
−? 

Solution. 

So, 

𝑰𝟏

𝑰𝟐
=

(𝑎1)2

(𝑎2)2
= (

𝑎1

𝑎2
)

2

=
𝟑𝟔

𝟒
= (

6

2
)

2

 

 

𝑎1

𝑎2
=

6

2
 

 

𝑰𝒎𝒂𝒙

𝑰𝒎𝒊𝒏
=

(𝑎1 + 𝑎2)2

(𝑎2 − 𝑎2)2
=

(6 + 2)2

(6 − 2)2
=

64

16
  𝑜𝑟  

4

1
 

 

Answer. 
𝑰𝒎𝒂𝒙

𝑰𝒎𝒊𝒏
=

64

16
. 
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